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Question No. 1 is objective type question. It consists of Section (A),
Section (B) and Section (C). Each Section has 5 questions of 1 mark

each. Visually impaired students follow the instructions as given with
the questions.
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Instructions :

Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer is
30 words)

-'3_41( '

r O,



(2] e
e Ted © |
(i) WA vl 7 /10 0% WY I90F T & | TAF ¥ W3 A
(Ve It ferwan vie-wf 50 v §)
: lon
Question Nos, 7 to 10 are short answer type questions. Each quest!

- : s
carries 3 marks. (Maximum word-limit of each answer is 50 words)
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Question Nos. 11 to 14 are short answer type questions. Each quastmn
carries 4 marks. (Maximum word-limit of each answer is 75 words)
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Question Nos. 15 and 16 are long answer type questions. Each question
carries 5 marks. (Maximum word-limit of each ariswer is 100 words)
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Question Nos. 17 and 18 are long answer type questions. Each question

carries 6 marks, (Maxirnum word-hrmt of each answer is /50 words)
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(S ection-A) Choose and write the correct option :
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Sun — Greepy plants —» Dear — Lion

The: main source of erergy in the above food chain is

(@) Green plants & Sun
(¢) Deer (@) Lion
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Darwin’s ship name was :
(a) Beagle

(6) Galapagos

(¢) Finch

(d) Wales
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(1) CH,CI (=) C,Hg
(&) C,H4 (3) C,Hg
Which of the following is a polymer of PVC?
(a) CH;CI (6) C,Hg
() GC,H, (d) C,Hg
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Diamond and graphite are :
(a) isotopes of carbon
(b) isobars of carbon

(c) allotropes of carbon

(d) isomers of carbon
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The object would be placed to obtain its image as real and of
same size by a convex lens :

(@) at focal point

(6) at center of curvature

(¢) atinfinity

(d) between infinity and center of curvature
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(Section-B) Fill in the blanks -

(i)
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HNO; is a strong .
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The heat absorbed 1o change the physical state of a substance is
called .
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At point the earth’s magnctic ficld and magnetic field of
magnet arc same but opposite,
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The functional group in C2H5OH is .
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(Section-C) Match the following :

(A) (B)
(/) Tamannd - (a) Renewable energy
(i) Carbonatc Orc - (b) First trophic level
(iti) CREDA - (¢) Virtual image
(iv) Convex mirror - (d) Limestone
(v) Producer - (¢) Tartanc acid
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What are called biotic components?
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What arc fossil fuels? Give one example.
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Suresh is a visually impaired student. Which indicators can he use to
identify acid and base?
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What is Molasscs / Sheera?
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Wnite the definition of Osmosis.
fafere o frd w63 £ 2 5.1, 7 fefau [2+1=3)
What is specific heat? Write S.1. unit.
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How will you identify a planc mirror, a concave mirror and a convex

mirror by observing image formed by them?
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What is electromagnetic induction? Name the scientist who discovered it.
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What is called Species Taxonomy? Explain with two examples,
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Wnite the chemical equation for prepanng Plaster of Paris. For which

property of Plaster of Paris, doctors used it to fix bones fracture?

HEar
OR

mmmmwﬁmqmﬁwmi

Write chemical equations for the synthesis of Teflon and two yseg of it
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\What arc homologous and analogous traits? Explain with example.
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Who is called the father of genctics? On which plant he used his

experiment? Write two reasons for the sclection of that plant.

et aike fer & R ot fafaa [1+1+141=4]
Write four differences between artery and ven.
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Write four differences between sexual and asexual reproduction.
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(i) CuSOy (i) NallCOy
(1i1) Nll4Cl (iv) (.‘II_,‘(‘()()NLI

Distinguish following salts on the basis of acidic and basic nature.

Write their chemical names also
() CuSO, (i) NaHCO,

(iii) NH,CI (iv) CH,COONa
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() Mg (90 §=a7 12) 71 (TTY] e 7)

(i) Na (SA] 6@ 11) 91 K (9mmy s 19)

[2+2=4)

Identify the element that has the larger atomic radius in the pairs

given below and write its reason also
(/) Mg (atomic number 12} or Cl (atomic number 7)

(4#) Na (atomic number 11) or K (atomic number 19)
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(/)  Write Ohm’s law, and plot graph between ¥ and /.

(¢) What is kilowatt-hour? Write its value in joule,

Note : Visually impaired Students will describe nature of graph

in place of the V ang 7 graph.
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(/) Define series combination of resistances. Draw electric circuit for it.

(i) In an electric circuit, a voltage of 5 volts is applied across

resistance of 10 . Calculate current flowing through it.

Note : Visually impaired students will write only formula in

place of circuit diagram of series combination.
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What is total internal reflection? Explain with ray diagram. Write
conditions for it. https://www.cgboardonline.com

Note : Visually impaired students will write example in place of

ray diagram.
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What is reflection of light? Write the law with diagram and give any

two examples in daily life.

Note : Visually impaired students will describe the law in place

of diagram.
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() Complete the following reactions :

(@) N.+3H, 450 °C-500 °C
' © % 200atm
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(b) Zn(s) + 2NaOH -—i-ﬂl—y- evennennes + Hy

(i)  Wnte any three differences between metals and non-metals

with respect to their chemical propertics,
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; rite : :
(1) Write three differences between roasting and calcination,

; Ty » g - .
(1) Write the chemical €quations for the following reactions -

(@)  Reaction of iron wig, water vapour

(b) Reaction of caleium with water
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Write names of

any two endocrine glands of human and their
one function of each.

Define the following and write one function of cach -
(@) Xylem

(0 Phloem
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Write any two plant hormones and their one function of cach.
Define the following and write one example of cach :

(a) Reflex action

(b) Voluntary action
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